25.10.2019r. MAKITA SERVICE INFORMATION

Model No.JV103D CORDLESS JIG SAW

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml 1/3



25.10.2019 .

Model No.JV103D CORDLESS JIG SAW

MAKITA SERVICE INFORMATION

ApTukyn HOHMaep OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
YyacTTa
001 853P72-8  |JV103D NAME PLATE 1 *
001-1 853P71-0  |JV103D NAME PLATE < 1
BUHT
002 266326-2 |CAMOHABMWBEH 10
ax18
003 620711-7 _ |CONTROLLER 1 *
003-1 620907-0  |CONTROLLER < i
004 183H18-5  |HOUSING SET i
D10 INC. 49
005 644813-5 | TERMINAL 1
006 620713-3 | LED CIRCUIT 1
007 347251-7  |HOLDER i
008 457866-3 | RETAINER GUIDE i
009 144629-3  |RETAINER COMPLETE 1
010 256206-0 |LUM®T 4 1
o1 266490-9 | TAPPING SCREW PT 2X6 3
012 853P79-4  |JV103D SERIAL NO. LABEL 1
013 629281-3  |STATOR 1
014 2111574 |BALL BEARING 69527 1
015 652069-6  |FLAT HEAD SCREW M3X6 3
016 650251-1 | SWITCH SGEL106C—4 1
017 519452-9  |ROTOR ASSY 1
D10 ING. 14,18
018 210005-4  [JIAT EP CAYMEH 1
019 144820-3  |BEARING CASE COMPLETE 1
020 213038-8  |p B2 THUTENEH 2
021 347249-4  |PUSH PLATE i
022 313082-6 DRHSRSHHBAM 1
024 310812-6  |BALANCE PLATE i
025 144630-8 | GEAR COMPLETE 1
026 212965-6 |NEEDLE CAGE 407 1
027 ser03-0  |HEEG ) EBnpax0s !
028 257804-3 | SHOULDER SLEEVE 7 1
029 9610020 |3ETEPKA S6 1
030 253715-0 MTOCKALWAWNBA 6 1
031 232183-0 | [P KU A 1
032 347250-9  |SLIDER 1
BONT
033 266177-3 |LUECTOT PAMEH 2
M3x10
034 347247-8  |PLATE 1
035 310811-8  |BLADE CLAMP 1
036 313086-8 %H%gﬁAMA 1
037 344686-3 |YMNABTHEHWE 1
038 423307-1 gﬁﬂ%¥ﬁﬁ¥éHOB 1
039 a237as-0 |1 h Eﬁl MASHA 1
040 135941-2 | BLADE GUIDE ASS'Y i
D10 INC. 41-48
041 2333144 HE?,I’)TKHE'QAU_LA“ 1
042 424437-1  |DUST COVER 1
043 962063-3  |RETAINING RING R-13 1
044 256528-8  |PIN 2 1
045 3108100 |BLADE GUIDE i
046 233591-8 | TORSION SPRING 10 1
047 310485-5  |LOCK PIN 1
048 452850-3  |INSERT HOLDER 1
049 183H18-5 |HOUSING SET 1
D10 INC. 4
050 620715-9  |SWITCH UNIT 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 25/10/2019

2/3



25.10.2019 .

Model No.JV103D CORDLESS JIG SAW

MAKITA SERVICE INFORMATION

Homep
ApTukyn Ha OnuvcaHue CmaHa|KonuvmuyecTBO|New/Old|[Tpopagaxb6alllokynkal3abenexka
yacTTa
051 142303-7 SWITCH PLATE COMPLETE 1
_ MPBCTEH
053 961011-9 OUKC P AL E-4 1
054 216008-6 CAUYMA 4 1
_ NMPYXNUHA
055 233151-6 NMPUTUCKALLA 4 1
056 271441-9 LEVER 19 1
057 319620-2 BASE 1
_ NMITACTUHA
058 345441-6 NAB3TALA 1
BUHT CBC
059 912107-9 CKPUTATNABA 4
M4x8
060 344685-5 CKOBA k-kT 1
BONT
061 922128-3 IHECTOFPAMEH 1
M4x16
HOX 3 A
AO01 A-85628 MPOBOOEH 1
TPWOH B-10
_ KJHY
A02 783201-2 WECTOFPAMS3 1
A03 4578671 COVER PLATE 1
_ CONNECTOR PLASTIC CASE
A04B 821549-5 (TYPE1) 1
C10 453974-8 LATCH 4
_ CONNECTOR PLASTIC CASE
A04C 821549-5 (TYPE1) 1
C10 453974-8 LATCH 4
_ CONNECTOR PLASTIC CASE
A04D 821549-5 (TYPE1) 1
C10 453974-8 LATCH 4
A05B 839186-1 INNER TRAY 1
A05C 839186-1 INNER TRAY 1
A05D 839186-1 INNER TRAY 1
_ JV103DWYJ INDICATION
A06B 813P29-1 LABEL 1 *
_ JV103DWAJ INDICATION
A06C 813P40-3 LABEL 1
_ JV103DWMJ INDICATION
A06D 813P55-0 LABEL 1
_ _ JV103DWYJ INDICATION
A06-1B 813P28-3 LABEL < 1
_ JV103DWYJ PLASTIC CASE
A07B 813P30-6 LABEL 2
_ JV103DWAJ PLASTIC CASE
A07C 813P41-1 LABEL 2
_ JV103DWMJ PLASTIC CASE
A07D 813P56-8 LABEL 2
A08B 197390-1 BATTERY BL1015 SET 2
A08C 197394-3 BATTERY BL1020B SET 2 *
A08D 197402-0 BATTERY BL1040B SET 2 *
A08-1B 197393-5 BATTERY BL1016 SET < 2
A08-1C 197396-9 BATTERY BL1021B SET < 2 *
A08-1D 197406-2 BATTERY BL1041B SET < 2 *
A08-2C 197396-9 BATTERY BL1021B SET (0] 2
A08-2D 197406-2 BATTERY BL1041B SET (e} 2
DC10WC BATTERY
A09B *x*xDC10WC CHARGER 1 *
DC10WC BATTERY
A09C **xkxDC10WC CHARGER 1 *
DC10WC BATTERY
A09D #HDCIOWC [ oh)pedn 1 *
A09-1B *¥xxDC10WD [DC10WD BATTERY CHARGER < 1
A09-1C **¥DC10WD |[DC10WD BATTERY CHARGER < 1
A09-1D **¥DC10WD |[DC10WD BATTERY CHARGER < 1
A10B 456128-6 BATTERY COVER 1
A10C 456128-6 BATTERY COVER 1
A10D 456128-6 BATTERY COVER 1
A1l 457801-1 DUST NOZZLE 1
A12 458191-5 DUST COVER 1

Please order the parts with part number.

https://msi.makita.co.jp/MsiWW/MsiWW/swi/print.ntml

Print Date 25/10/2019

3/3



